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One Unit 1 contains 1000 cubic kilometers of liquid water amount with density 1 g/mL (0.996 g/mL) 
Water Global Circulation during one Year 
because of evaporation and condensation equilibrium 
between liquid (oceans, rivers, lakes, clouds and sees) water and 
              atmospheric gas water that has one called the vapors of water: 

H2Oliquid + Qheat of evaporation 
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 H2Ovapor(gas)
( Evaporation of water is endothermic reaction or 
change of enthalpy is positive H2 – H1 = ∆H>0 because in reaction enthalpy increases from H1 to H2.
So the heat of surrounding is absorbed –Q, added to heat content H2 = H1 + Q of products H2Ovapor(gas) or 
one can say heat from surrounding is lost into products H2Ovapor(gas) like as to freezes surrounding .

( Reverse reaction condensation of water is exothermic or 
change of enthalpy is negative H2 – H1 = ∆H<0 because in reaction enthalpy decreases from H1 to H2. 
So the heat is separated from heat content H1 = Q + H2 of products H2Oliquid and evolved +Q into surrounding 
or one can say heat is emitted from products H2Ovapor(gas) like as to warms surrounding. 
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